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OChapter 8 Worksheet

Find all values to the nearest tenth.

1. Jimmy flies a kite with a 100 foot string. The angle of elevation of the
string is 52 °. Jimmy writes the equation By (52°) = (x/100).
How high off the ground is the kite? S
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2. Kaitlyn is flying an airplane that takes o@n front of @%ﬁ‘fbuﬂding. Using the equation
tan(x ) = (6(#2D0) Kaitlyn calculates her angle of ascent. The plane stalls if she climbs at an angle of over 10°.
Will Kaitlyn survive this experience? Ex%lain in detail. (Assume that the airplane flies in a straight line and the
angle of elevation remains constant un e airplane flies over the building.)
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3. Grace owns a construction company. According to OSHA, n IO {Hn\') - é\o\/a“fl o

Non-self-supporting ladders, which must lean against a wall or other support, are to be positioned at such an angle that
the horizontal distance from the top support to the foot of the ladder is about 1/4 the actual length of the ladder.
Draw a picture for Grace’s workers and calculate the optimal angle of elevation for a ladder.
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Grace’s workers usually use twenty foot ladders. How far must they place the ladder from the base of the , > _
building to be at the optimal angle of elevation? T-l
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4. A ramp is needed to allow vehicles to climb a 2 foot wall. The angle of elevation in order for the vehicles to
safely go up must be 30 ° or less, and the longest ramp available is 5 feet long. Can this ramp be used safely?
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5. Hunter is going snowboarding. He rode the ski lift to the top of the mountain, which is at an altitude of 1500
feet. The angle of elevation from the bottom to the top of the mountain is 25°. What is the length of the
Hunter’s run (his trip down the hill)? Round your answer to the nearest tenth of a foot.
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6. David is going to the moon. To get there, he has to travel at a 70 degree angle of elevation. If the moon was

straight above the earth, it would be 200,000 miles away (in other words, the vertical distance from the earth to
the moon is 200,000 miles). Find the distance that David travels to get to the moon. Round to the nearest tenth.
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7. Find the angle of elevation of the sun when a 7.6-m,ete‘_LQagpole casts a 18.2-meter shadow. Round to the
nearest tenth of a degree. _ C
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8. A pilot is flying at 5,000 feet and wants to take the plane up to 20,000 feet over the next 50 miles. What
should be his angle of elevation to the nearest tenth? (Hint: There are 5280 feet in a mile.)
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9. mZA= 14x -3, mAB—Sx—l4 mLC 32-2x 6
List the sides of triangle ABC in order from shortest to longest.
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10. mZA= 11x-4, m£LB = 4x-11, mZC =63 —4x
List the sides of triangle ABC in order from longest to shortest.
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.7 Solve for the missing side. Leave answer in simplified radical form.

17. Solve for x in the right triangle.
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14. Write an inequality for x that must be true for these values to be the sides of a triangle. 7—(1)
(4x — 5 is the longest side.) )<4' t aAax+4 > dyw-s 33
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15. Write an inequality for x that must be true for these values to be the sides of a friang]e.
(5x is the longest side.)
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Hint: Use Factoring or Quadratic Formula to Solve #16 and #17 ' "\KP‘“
16. Solve for x in the right triangle. i e,
. s le
Not- ¢
5x - 2 ()(*7/> 4 (3)(—\'7;3" (6)(— ),>
X+2 o Fov ot
2
m XUy 4+ Q% b 49 = ASKT20x+y
3x+3 O}CL—\— LAX4\3 = 20X D ox+4

O= (Sx* U2 x-9

X= 424 {Pbu-yhsy(-a\

T -
g ) .
O N T e > %

x+2 X Hdsc+d oy P +32x e

= \Ix P42 x 4 o= 7)?)(._.___ _

O 4x + 4 Oz 3¢t -3Ly 920
K= 36 £ J 1200 -0 (1)) Cblf%&v

.—-—-—--/__’____—-— =~
; 209D .

X‘ffb\ AL C=-

X= "2 ==

o






